
           Typical:    0.15    0.40 
 

FIRM (max characters no.=32) 
 

BLADE No. 
   ê  

ΔA 
(bar) 

0.05-0.20 

ΔB 
(bar) 

0.20-0.80 

 

(1) 

Δmm 

 

Membrane 
Aspect  (2) 

 

CUSTOMER (32)   

Start     
 

JOB (32)   

ZE=     (3) 
    

 

SITE (32)   

ZE=     
 

REMARK (32)   

ZE=     
 

TEST NAME (12)                          DATE (20) 
 

(1) Coaxiality error (L square) 
 

Absol. elev.(optional) ______ m    Zwater (necess.) ____ m or      > Zfinal 
 

Zero of gauge ____________ bar  γ top ______ t/m3 (default 1.75) 

(2) Elastic, overinflated, wrinkled, 
      snapping, scratched, etc. 
(3) Depth reached from extracted blade 

 

      Rig                   Penetrometer 
 
Diameter of rod behind the blade _______  

 

TEST 
STOPPED 
BECAUSE 

 
è 
 

 

REFUSAL 
MEMBRANE † 
Z =Z prefixed 

  
 

  
 

  

  

 OPERATOR 
 
 ____________ 

 

0 A B C 6    12    18    24    
2    2    2    2    2    

4    4    4    4    4    

6    6    6    6    6    

8    8    8    8    8    

1    7    13    19    25    
2    2    2    2    2    

4    4    4    4    4    

6    6    6    6    6    

8    8    8    8    8    

2    8    14    20    26    
2    2    2    2    2    

4    4    4    4    4    

6    6    6    6    6    

8    8    8    8    8    

3    9    15    21    27    
2    2    2    2    2    

4    4    4    4    4    

6    6    6    6    6    

8    8    8    8    8    

4    10    16    22    28    
2    2    2    2    2    

4    4    4    4    4    

6    6    6    6    6    

8    8    8    8    8    

5    11    17    23    29    
2    2    2    2    2    

4    4    4    4    4    

6    6    6    6    6    

8    8    8    8    8    

 


